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Dynamics of Rigid Bodies (Rotational Motion)
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Derive the relationship formula between moment of force and moment of

inertia.
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A circular disc of mass 1 kg and radius 0.2 m is revolving with an angular
velocity of 4 radian/sec. Evaluate (i) Rotating kinetic energy, (ii) Required
couple of force to stop this after 5 second.
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Explain and prove the theorem of perpendicular axes related to the
moment of inertia.
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inertia.
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Define angular momentum. What is the princi nservation of angular
momentum? Express it with one example,
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A ring of mass 10 kg and diameter 0.4 m is rolling on the earth with an

angular velocity of 2100 round/minute, Find the rotating kinetic energy

and total kinetic energy. How much percentage of rotating kinetic energy is
present in the whole kinetic energy of a ring?
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Explain the laws of terminal friction.
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A particle of massm is moving in a horizontal plane with a uniform velocity

vin a circular motion. The radius of circular path is ‘r’. Determine that in a
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